
SAP ABAP table KNBW {Customer master record (withholding tax types) X}

KNBW

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

BUKRS [CHAR (4)]

WITHT [CHAR (2)]

WT_WITHCD [CHAR (2)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]
 KNBW-KUNNR = KNA1-KUNNR 0..N

1

T000

MANDT [CLNT (3)] KNBW-MANDT = T000-MANDT 0..N

1
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 KNBW-BUKRS = T001-BUKRS 
0..N1

T059P

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

 KNBW-WITHT = T059P-WITHT 

0..N

0..N

T059Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

WT_WITHCD [CHAR (2)]

 KNBW-WT_WITHCD = T059Z-WT_WITHCD 

0..N

1


